Award RFQ: 104220 Bus Parts

RFQ 104220
Close Date 8/5/2025 14:00
RFQ Currency USD

Quotes Received 12
Active Quotes 12
Shortlisted Quotes 12

Invited Suppliers 39
Intent to Participate 9

Responded 12

Line Summary

Quote Award
Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
1 VALVE:NEW FRONT E6 DUAL BRAKE|040615 Mohawk Manufacturing and|Assembly 10 10 unapproved part 1 4517
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Gillig LLC Assembly 10 10 10 2 94.04
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Neopart Transit LLC Assembly 10 10 3 96.49
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Muncie Transit Supply Assembly 10 10 4 102.73
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 The Aftermarket Parts Com|Assembly 10 10 5 122.07
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 CBM US Inc Assembly 10 10 6 148.9
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 ElDorado National (CalifornfAssembly 10 10 7 152.37
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 A&A Auto Parts Stores Inc |Assembly 10
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Interstate Power Systems |Assembly 10
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Kirk's Automotive Inc Assembly 10
1 VALVE:NEW FRONT E6 DUAL BRAKE[040615 Suburban Truck Parts Assembly 10
1 VALVE:NEW FRONT E6 DUAL BRAKE|040615 Vehicle Maintenance Progrd Assembly 10
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Mohawk Manufacturing and|Kit 5 5 5 1 20.81
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Neopart Transit LLC Kit 5 5 2 38.53
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Muncie Transit Supply Kit 5 5 3 41.92
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Gillig LLC Kit 5 5 4 41.98
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 The Aftermarket Parts Com|Kit 5 5 5 50.56
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 CBM US Inc Kit 5 5 6 59.46
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 A&A Auto Parts Stores Inc |Kit 5
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 ElDorado National (Californ|Kit 5
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Interstate Power Systems | Kit 5
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Kirk's Automotive Inc Kit 5
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Suburban Truck Parts Kit 5
2 KIT:PURGE VLV,AD9 AIRDRYER 200520 Vehicle Maintenance ProgrdKit 5
3 CARTRIDGE:AD9 DRYER 200522 Mohawk Manufacturing and|Piece 24 24 24 1 22.86
3 CARTRIDGE:AD9 DRYER 200522 Muncie Transit Supply Piece 24 24 2 35.44
3 CARTRIDGE:AD9 DRYER 200522 CBM US Inc Piece 24 24 3 40.67
3 CARTRIDGE:AD9 DRYER 200522 Interstate Power Systems [Piece 24 24 4 4437
3 CARTRIDGE:AD9 DRYER 200522 The Aftermarket Parts Com|Piece 24 24 5 291.15
3 CARTRIDGE:AD9 DRYER 200522 A&A Auto Parts Stores Inc |Piece 24
3 CARTRIDGE:AD9 DRYER 200522 ElDorado National (Californ|Piece 24
3 CARTRIDGE:AD9 DRYER 200522 Gillig LLC Piece 24
3 CARTRIDGE:AD9 DRYER 200522 Kirk's Automotive Inc Piece 24
3 CARTRIDGE:AD9 DRYER 200522 Neopart Transit LLC Piece 24
3 CARTRIDGE:AD9 DRYER 200522 Suburban Truck Parts Piece 24
3 CARTRIDGE:AD9 DRYER 200522 Vehicle Maintenance Progrd Piece 24
4 COVER:AD9 AIR DRYER 200547 Neopart Transit LLC Assembly 5 5 5 1 594.86
4 COVER:AD9 AIR DRYER 200547 Muncie Transit Supply Assembly 5 5 2 659.87
4 COVER:AD9 AIR DRYER 200547 Mohawk Manufacturing and[Assembly 5 5 3 677.5
4 COVER:AD9 AIR DRYER 200547 The Aftermarket Parts Com|Assembly 5 5 4 780.48
4 COVER:AD9 AIR DRYER 200547 A&A Auto Parts Stores Inc |Assembly 5
4 COVER:AD9 AIR DRYER 200547 CBM US Inc Assembly 5
4 COVER:AD9 AIR DRYER 200547 ElDorado National (Californ|Assembly 5
4 COVER:AD9 AIR DRYER 200547 Gillig LLC Assembly 5
4 COVER:AD9 AIR DRYER 200547 Interstate Power Systems |Assembly 5
4 COVER:AD9 AIR DRYER 200547 Kirk's Automotive Inc Assembly 5
4 COVER:AD9 AIR DRYER 200547 Suburban Truck Parts Assembly 5
4 COVER:AD9 AIR DRYER 200547 Vehicle Maintenance Progrd Assembly 5
5 SWITCH:PRESSURE 50 PSI NC 200754 Muncie Transit Supply Piece 6 6 6 1 33.29
5 SWITCH:PRESSURE 50 PSI NC 200754 A&A Auto Parts Stores Inc |Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 CBM US Inc Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 ElDorado National (Californ|Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Gillig LLC Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Interstate Power Systems [Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Kirk's Automotive Inc Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Mohawk Manufacturing and|Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Neopart Transit LLC Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Suburban Truck Parts Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 The Aftermarket Parts Com|Piece 6
5 SWITCH:PRESSURE 50 PSI NC 200754 Vehicle Maintenance Progrd Piece 6
6 FILTER:HYDRAULIC 200863 Suburban Truck Parts Piece 60 60 60 1 9.86
6 FILTER:HYDRAULIC 200863 A&A Auto Parts Stores Inc |Piece 60 60 2 10.15
6 FILTER:HYDRAULIC 200863 Mohawk Manufacturing and|Piece 60 60 3 10.21
6 FILTER:HYDRAULIC 200863 Interstate Power Systems |Piece 60 60 4 11.61
6 FILTER:HYDRAULIC 200863 Muncie Transit Supply Piece 60 60 5 11.65
6 FILTER:HYDRAULIC 200863 The Aftermarket Parts Com|Piece 60 60 6 11.81
6 FILTER:HYDRAULIC 200863 Vehicle Maintenance Progrd Piece 60 60 7 13.11
6 FILTER:HYDRAULIC 200863 CBM US Inc Piece 60




Award RFQ: 104220 Bus Parts

RFQ 104220
Close Date 8/5/2025 14:00

Quotes Received 12
Active Quotes 12

Invited Suppliers 39
Intent to Participate 9

RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
6 FILTER:HYDRAULIC 200863 ElDorado National (Californ|Piece 60

6 FILTER:HYDRAULIC 200863 Gillig LLC Piece 60

6 FILTER:HYDRAULIC 200863 Kirk's Automotive Inc Piece 60

6 FILTER:HYDRAULIC 200863 Neopart Transit LLC Piece 60

7 ROD:REAR RADIUS-UPPER 030389 The Aftermarket Parts Com[Piece 6 6 6 1 307.78
7 ROD:REAR RADIUS-UPPER 030389 A&A Auto Parts Stores Inc |Piece 6

7 ROD:REAR RADIUS-UPPER 030389 CBM US Inc Piece 6

7 ROD:REAR RADIUS-UPPER 030389 ElDorado National (Californ|Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Gillig LLC Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Interstate Power Systems |Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Kirk's Automotive Inc Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Mohawk Manufacturing and|Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Muncie Transit Supply Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Neopart Transit LLC Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Suburban Truck Parts Piece 6

7 ROD:REAR RADIUS-UPPER 030389 Vehicle Maintenance Progrd Piece 6

8 CAP AY:HUB FRONT 041169 Gillig LLC Assembly 20 20 20 1 435
8 CAP AY:HUB FRONT 041169 The Aftermarket Parts Com|Assembly 20 20 2 56.3
8 CAP AY:HUB FRONT 041169 Mohawk Manufacturing and|Assembly 20 20 3 58.95
8 CAP AY:HUB FRONT 041169 Neopart Transit LLC Assembly 20 20 4 68.53
8 CAP AY:HUB FRONT 041169 Muncie Transit Supply Assembly 20 20 5 75.8
8 CAP AY:HUB FRONT 041169 Vehicle Maintenance Progrd Assembly 20 20 6 77.35
8 CAP AY:HUB FRONT 041169 A&A Auto Parts Stores Inc |Assembly 20

8 CAP AY:HUB FRONT 041169 CBM US Inc Assembly 20

8 CAP AY:HUB FRONT 041169 ElDorado National (Californ|Assembly 20

8 CAP AY:HUB FRONT 041169 Interstate Power Systems |[Assembly 20

8 CAP AY:HUB FRONT 041169 Kirk's Automotive Inc Assembly 20

8 CAP AY:HUB FRONT 041169 Suburban Truck Parts Assembly 20

9 SENSOR:AY:ABS,MULTI USE 040922 Mohawk Manufacturing and|Assembly 20 20 20 1 18.5
9 SENSOR:AY:ABS,MULTI USE 040922 Neopart Transit LLC Assembly 20 20 2 23.76
9 SENSOR:AY:ABS,MULTI USE 040922 Vehicle Maintenance Progrd Assembly 20 20 3 26.92
9 SENSOR:AY:ABS,MULTI USE 040922 Suburban Truck Parts Assembly 20 20 4 31.36
9 SENSOR:AY:ABS,MULTI USE 040922 Muncie Transit Supply Assembly 20 20 5 32.9
9 SENSOR:AY:ABS,MULTI USE 040922 The Aftermarket Parts Com|Assembly 20 20 6 45.06
9 SENSOR:AY:ABS,MULTI USE 040922 ElDorado National (Californ|Assembly 20 20 7 50
9 SENSOR:AY:ABS,MULTI USE 040922 Gillig LLC Assembly 20 20 8 58.31
9 SENSOR:AY:ABS,MULTI USE 040922 A&A Auto Parts Stores Inc |Assembly 20

9 SENSOR:AY:ABS,MULTI USE 040922 CBM US Inc Assembly 20

9 SENSOR:AY:ABS,MULTI USE 040922 Interstate Power Systems |[Assembly 20

9 SENSOR:AY:ABS,MULTI USE 040922 Kirk's Automotive Inc Assembly 20

10 INDICATOR:RESTRICTION-AIR 200355 Muncie Transit Supply Piece 2 2 MOQ requirement 1 40.19
10 INDICATOR:RESTRICTION-AIR 200355 Vehicle Maintenance Progrd Piece 2 2 2 2 71.73
10 INDICATOR:RESTRICTION-AIR 200355 A&A Auto Parts Stores Inc |Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 CBM US Inc Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 ElDorado National (Californ|Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Gillig LLC Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Interstate Power Systems [Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Kirk's Automotive Inc Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Mohawk Manufacturing and|Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Neopart Transit LLC Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 Suburban Truck Parts Piece 2

10 INDICATOR:RESTRICTION-AIR 200355 The Aftermarket Parts Com|Piece 2

11 HOUSING:& PLATE-HORN 020535 Mohawk Manufacturing and|Kit 4 4 unapproved part 1 46.22
11 HOUSING:& PLATE-HORN 020535 The Aftermarket Parts Com([Kit 4 4 4 2 68.57
11 HOUSING:& PLATE-HORN 020535 Muncie Transit Supply Kit 4 4 3 82.76
11 HOUSING:& PLATE-HORN 020535 A&A Auto Parts Stores Inc |Kit 4

11 HOUSING:& PLATE-HORN 020535 CBM US Inc Kit 4

11 HOUSING:& PLATE-HORN 020535 ElDorado National (Californ|Kit 4

11 HOUSING:& PLATE-HORN 020535 Gillig LLC Kit 4

11 HOUSING:& PLATE-HORN 020535 Interstate Power Systems  |Kit 4

11 HOUSING:& PLATE-HORN 020535 Kirk's Automotive Inc Kit 4

11 HOUSING:& PLATE-HORN 020535 Neopart Transit LLC Kit 4

11 HOUSING:& PLATE-HORN 020535 Suburban Truck Parts Kit 4

11 HOUSING:& PLATE-HORN 020535 Vehicle Maintenance Progrd Kit 4

12 SENSOR:ACTUATOR AXLE 041240 Muncie Transit Supply Piece 4 4 4 1 125.49
12 SENSOR:ACTUATOR AXLE 041240 Neopart Transit LLC Piece 4 4 2 127.88
12 SENSOR:ACTUATOR AXLE 041240 Gillig LLC Piece 4 4 3 136.1
12 SENSOR:ACTUATOR AXLE 041240 Kirk's Automotive Inc Piece 4 4 4 142




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
12 SENSOR:ACTUATOR AXLE 041240 Vehicle Maintenance Progrd Piece 4 4 5 142.6
12 SENSOR:ACTUATOR AXLE 041240 The Aftermarket Parts Com{Piece 4 4 6 145.62
12 SENSOR:ACTUATOR AXLE 041240 Mohawk Manufacturing and|Piece 4 4 7 147.17
12 SENSOR:ACTUATOR AXLE 041240 A&A Auto Parts Stores Inc |Piece 4

12 SENSOR:ACTUATOR AXLE 041240 CBM US Inc Piece 4

12 SENSOR:ACTUATOR AXLE 041240 ElDorado National (Californ|Piece 4

12 SENSOR:ACTUATOR AXLE 041240 Interstate Power Systems |Piece 4

12 SENSOR:ACTUATOR AXLE 041240 Suburban Truck Parts Piece 4

13 SHAFT: DRIVE SHAFT WITH YOKES|140076 ElIDorado National (Californ|Each 1 1 1 1 1172.68
13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 A&A Auto Parts Stores Inc [Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES|140076 CBM US Inc Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES|140076 Gillig LLC Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES|140076 Interstate Power Systems |Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 Kirk's Automotive Inc Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES|140076 Mohawk Manufacturing and|Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 Muncie Transit Supply Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 Neopart Transit LLC Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 Suburban Truck Parts Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES| 140076 The Aftermarket Parts Com|Each 1

13 SHAFT: DRIVE SHAFT WITH YOKES|[140076 Vehicle Maintenance Progrd Each 1

14 PLATE AY: ADJUSTABLE THROTTLH041294 The Aftermarket Parts Com|Assembly 1 1 1 1 2101.48
14 PLATE AY: ADJUSTABLE THROTTLH041294 ElDorado National (Californ|Assembly 1 1 2 2427.47
14 PLATE AY: ADJUSTABLE THROTTLHO041294 A&A Auto Parts Stores Inc |Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLHO041294 CBM US Inc Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLHO041294 Gillig LLC Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLH041294 Interstate Power Systems |Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLHO041294 Kirk's Automotive Inc Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLH041294 Mohawk Manufacturing and|Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLHO041294 Muncie Transit Supply Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLHO041294 Neopart Transit LLC Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLH041294 Suburban Truck Parts Assembly 1

14 PLATE AY: ADJUSTABLE THROTTLH041294 Vehicle Maintenance Progrd Assembly 1

15 COVER:BRAKE PEDAL 041295 Gillig LLC Piece 5 5 5 1 22.97
15 COVER:BRAKE PEDAL 041295 The Aftermarket Parts Com|Piece 5 5 2 43.28
15 COVER:BRAKE PEDAL 041295 A&A Auto Parts Stores Inc |Piece 5

15 COVER:BRAKE PEDAL 041295 CBM US Inc Piece 5

15 COVER:BRAKE PEDAL 041295 ElDorado National (Californ|Piece 5

15 COVER:BRAKE PEDAL 041295 Interstate Power Systems [Piece 5

15 COVER:BRAKE PEDAL 041295 Kirk's Automotive Inc Piece 5

15 COVER:BRAKE PEDAL 041295 Mohawk Manufacturing and|Piece 5

15 COVER:BRAKE PEDAL 041295 Muncie Transit Supply Piece 5

15 COVER:BRAKE PEDAL 041295 Neopart Transit LLC Piece 5

15 COVER:BRAKE PEDAL 041295 Suburban Truck Parts Piece 5

15 COVER:BRAKE PEDAL 041295 Vehicle Maintenance Progrd Piece 5

16 VALVE:40PSI PARKING CONTROL-(J200964 Mohawk Manufacturing and|Assembly 3 3 3 1 16.93
16 VALVE:40PSI PARKING CONTROL-(J200964 Neopart Transit LLC Assembly 3 3 2 39.22
16 VALVE:40PSI PARKING CONTROL-(J200964 Muncie Transit Supply Assembly 3 3 3 43.15
16 VALVE:40PSI PARKING CONTROL-(J200964 ElDorado National (Californ|Assembly 3 3 4 49.92
16 VALVE:40PSI PARKING CONTROL-(J200964 The Aftermarket Parts Com|Assembly 3 3 5 51.93
16 VALVE:40PSI PARKING CONTROL-(J200964 CBM US Inc Assembly 3 3 6 61.08
16 VALVE:40PSI PARKING CONTROL-(J200964 A&A Auto Parts Stores Inc |Assembly 3

16 VALVE:40PSI PARKING CONTROL-(200964 Gillig LLC Assembly 3

16 VALVE:40PSI PARKING CONTROL-(J200964 Interstate Power Systems [Assembly 3

16 VALVE:40PSI PARKING CONTROL-(200964 Kirk's Automotive Inc Assembly 3

16 VALVE:40PSI PARKING CONTROL-(J200964 Suburban Truck Parts Assembly 3

16 VALVE:40PSI PARKING CONTROL-(1200964 Vehicle Maintenance Progrd Assembly 3

17 SHOCK:ABSORBER REAR(40') 030483 Muncie Transit Supply Piece 20 20 complete stock not availablq1 238
17 SHOCK:ABSORBER REAR(40') 030483 ElDorado National (Californ|Piece 20 20 20 2 346.79
17 SHOCK:ABSORBER REAR(40') 030483 A&A Auto Parts Stores Inc |Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 CBM US Inc Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Gillig LLC Piece 20

17 SHOCK:ABSORBER REAR(40") 030483 Interstate Power Systems [Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Kirk's Automotive Inc Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Mohawk Manufacturing and|Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Neopart Transit LLC Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Suburban Truck Parts Piece 20

17 SHOCK:ABSORBER REAR(40") 030483 The Aftermarket Parts Com|Piece 20

17 SHOCK:ABSORBER REAR(40') 030483 Vehicle Maintenance Progrd Piece 20




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
18 SHOCK:ABSORBER REAR(40') 030483 Muncie Transit Supply Piece 12 12 complete stock not availablq1 238
18 SHOCK:ABSORBER REAR(40') 030483 ElDorado National (Californ|Piece 12 12 12 2 346.79
18 SHOCK:ABSORBER REAR(40') 030483 A&A Auto Parts Stores Inc |Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 CBM US Inc Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Gillig LLC Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Interstate Power Systems |Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Kirk's Automotive Inc Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Mohawk Manufacturing and|Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Neopart Transit LLC Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Suburban Truck Parts Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 The Aftermarket Parts Com|Piece 12

18 SHOCK:ABSORBER REAR(40') 030483 Vehicle Maintenance Progrd Piece 12

19 KIT: BRAKE PADS FRONT KIT 0410006 Kirk's Automotive Inc Kit 10 10 10 1 149
19 KIT: BRAKE PADS FRONT KIT 0410006 Neopart Transit LLC Kit 10 10 2 226.7
19 KIT: BRAKE PADS FRONT KIT 0410006 Gillig LLC Kit 10 10 3 229.31
19 KIT: BRAKE PADS FRONT KIT 0410006 Muncie Transit Supply Kit 10 10 4 256.96
19 KIT: BRAKE PADS FRONT KIT 0410006 Suburban Truck Parts Kit 10 10 5 330.19
19 KIT: BRAKE PADS FRONT KIT 0410006 The Aftermarket Parts Com([Kit 10 10 6 330.44
19 KIT: BRAKE PADS FRONT KIT 0410006 Mohawk Manufacturing and|Kit 10 10 7 346.16
19 KIT: BRAKE PADS FRONT KIT 0410006 A&A Auto Parts Stores Inc [Kit 10

19 KIT: BRAKE PADS FRONT KIT 0410006 CBM US Inc Kit 10

19 KIT: BRAKE PADS FRONT KIT 0410006 ElDorado National (Californ|Kit 10

19 KIT: BRAKE PADS FRONT KIT 0410006 Interstate Power Systems  [Kit 10

19 KIT: BRAKE PADS FRONT KIT 0410006 Vehicle Maintenance ProgrdKit 10

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Gillig LLC Piece 12 12 12 1 179.06
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Mohawk Manufacturing and|Piece 12 12 2 194.9
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Suburban Truck Parts Piece 12 12 3 196.61
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 ElDorado National (Californ|Piece 12 12 4 198.66
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Muncie Transit Supply Piece 12 12 5 210.7
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 The Aftermarket Parts Com[Piece 12 12 6 218.06
20 ADJUSTER:SLACK REAR R/S ADJUY0410009 A&A Auto Parts Stores Inc |Piece 12

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 CBM US Inc Piece 12

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Interstate Power Systems [Piece 12

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Kirk's Automotive Inc Piece 12

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Neopart Transit LLC Piece 12

20 ADJUSTER:SLACK REAR R/S ADJUY0410009 Vehicle Maintenance Progrd Piece 12

21 ROTOR:FRONT BRAKE ROTOR 0410010 Mohawk Manufacturing and|Piece 20 20 unapproved part 1 131.3
21 ROTOR:FRONT BRAKE ROTOR 0410010 Kirk's Automotive Inc Piece 20 20 20 2 164
21 ROTOR:FRONT BRAKE ROTOR 0410010 Gillig LLC Piece 20 20 3 172.5
21 ROTOR:FRONT BRAKE ROTOR 0410010 Neopart Transit LLC Piece 20 20 4 175.74
21 ROTOR:FRONT BRAKE ROTOR 0410010 Muncie Transit Supply Piece 20 20 5 194.86
21 ROTOR:FRONT BRAKE ROTOR 0410010 The Aftermarket Parts Com[Piece 20 20 6 238.32
21 ROTOR:FRONT BRAKE ROTOR 0410010 Suburban Truck Parts Piece 20 20 7 315.35
21 ROTOR:FRONT BRAKE ROTOR 0410010 ElDorado National (Californ|Piece 20 20 8 1600
21 ROTOR:FRONT BRAKE ROTOR 0410010 A&A Auto Parts Stores Inc |Piece 20

21 ROTOR:FRONT BRAKE ROTOR 0410010 CBM US Inc Piece 20

21 ROTOR:FRONT BRAKE ROTOR 0410010 Interstate Power Systems [Piece 20

21 ROTOR:FRONT BRAKE ROTOR 0410010 Vehicle Maintenance Progrd Piece 20

22 VALVE:AUTOMATIC EJECTION DV-2(2010014 ElDorado National (Californ|Piece 4 4 4 1 73.37
22 VALVE:AUTOMATIC EJECTION DV-2(2010014 Neopart Transit LLC Piece 4 4 2 85.25
22 VALVE:AUTOMATIC EJECTION DV-2(2010014 Muncie Transit Supply Piece 4 4 3 87.22
22 VALVE:AUTOMATIC EJECTION DV-2(2010014 Mohawk Manufacturing and|Piece 4 4 4 96.54
22 VALVE:AUTOMATIC EJECTION DV-2(2010014 The Aftermarket Parts Com|Piece 4 4 5 111.33
22 VALVE:AUTOMATIC EJECTION DV-2|2010014 A&A Auto Parts Stores Inc |Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2|2010014 CBM US Inc Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2|2010014 Gillig LLC Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2|2010014 Interstate Power Systems [Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2|2010014 Kirk's Automotive Inc Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2|2010014 Suburban Truck Parts Piece 4

22 VALVE:AUTOMATIC EJECTION DV-2(2010014 Vehicle Maintenance Progrd Piece 4

23 BELLOW:REAR AIR BAG BELLOW [0310008 Kirk's Automotive Inc Piece 16 16 16 1 117
23 BELLOW:REAR AIR BAG BELLOW 0310008 Neopart Transit LLC Piece 16 16 2 119
23 BELLOW:REAR AIR BAG BELLOW [0310008 Gillig LLC Piece 16 16 3 120.31
23 BELLOW:REAR AIR BAG BELLOW [0310008 The Aftermarket Parts Com|Piece 16 16 4 127.26
23 BELLOW:REAR AIR BAG BELLOW [0310008 ElDorado National (Californ|Piece 16 16 5 150
23 BELLOW:REAR AIR BAG BELLOW 0310008 Muncie Transit Supply Piece 16 16 6 232.99
23 BELLOW:REAR AIR BAG BELLOW 0310008 A&A Auto Parts Stores Inc |Piece 16

23 BELLOW:REAR AIR BAG BELLOW 0310008 CBM US Inc Piece 16




Award RFQ: 104220 Bus Parts

RFQ 104220
Close Date 8/5/2025 14:00
RFQ Currency USD

Quotes Received 12
Active Quotes 12
Shortlisted Quotes 12

Invited Suppliers 39
Intent to Participate 9

Responded 12

Line Summary

Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
23 BELLOW:REAR AIR BAG BELLOW [0310008 Interstate Power Systems |Piece 16

23 BELLOW:REAR AIR BAG BELLOW [0310008 Mohawk Manufacturing and|Piece 16

23 BELLOW:REAR AIR BAG BELLOW (0310008 Suburban Truck Parts Piece 16

23 BELLOW:REAR AIR BAG BELLOW 0310008 Vehicle Maintenance Progrd Piece 16

24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Neopart Transit LLC Assembly 2 2 2 1 315.03
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Kirk's Automotive Inc Assembly 2 2 2 320
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Vehicle Maintenance Progrd Assembly 2 2 3 323.34
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Gillig LLC Assembly 2 2 4 329.43
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Muncie Transit Supply Assembly 2 2 5 336.97
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Mohawk Manufacturing and|Assembly 2 2 6 366.18
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 The Aftermarket Parts Com|Assembly 2 2 7 462.22
24 SENSOR:ACTUATOR BRAKE E-STR{0410034 A&A Auto Parts Stores Inc |Assembly 2

24 SENSOR:ACTUATOR BRAKE E-STR{0410034 CBM US Inc Assembly 2

24 SENSOR:ACTUATOR BRAKE E-STR{0410034 ElDorado National (Californ|Assembly 2

24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Interstate Power Systems |Assembly 2

24 SENSOR:ACTUATOR BRAKE E-STR{0410034 Suburban Truck Parts Assembly 2

25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 Kirk's Automotive Inc Assembly 5 5 5 1 504
25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 Neopart Transit LLC Assembly 5 5 2 506.66
25 CHAMBER:FRONT BRAKE CHAMBER 0410036 Vehicle Maintenance Progrd Assembly 5 5 3 520.25
25 CHAMBER:FRONT BRAKE CHAMBEHK 0410036 Gillig LLC Assembly 5 5 4 554.38
25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 Muncie Transit Supply Assembly 5 5 5 560
25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 Mohawk Manufacturing and|Assembly 5 5 6 592
25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 The Aftermarket Parts Com|Assembly 5 5 7 723.04
25 CHAMBER:FRONT BRAKE CHAMBEHR 0410036 A&A Auto Parts Stores Inc |Assembly 5

25 CHAMBER:FRONT BRAKE CHAMBEHR 0410036 CBM US Inc Assembly 5

25 CHAMBER:FRONT BRAKE CHAMBEHR 0410036 ElDorado National (Californ|Assembly 5

25 CHAMBER:FRONT BRAKE CHAMBEHK 0410036 Interstate Power Systems |[Assembly 5

25 CHAMBER:FRONT BRAKE CHAMBEK 0410036 Suburban Truck Parts Assembly 5

26 CALIPER:FRONT R/S CALIPER 0410043 Kirk's Automotive Inc Piece 2 2 2 1 65.88
26 CALIPER:FRONT R/S CALIPER 0410043 A&A Auto Parts Stores Inc |Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 CBM US Inc Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 ElDorado National (Californ|Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Gillig LLC Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Interstate Power Systems  |Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Mohawk Manufacturing and|Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Muncie Transit Supply Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Neopart Transit LLC Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Suburban Truck Parts Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 The Aftermarket Parts Com[Piece 2

26 CALIPER:FRONT R/S CALIPER 0410043 Vehicle Maintenance Progrd Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Kirk's Automotive Inc Piece 2 2 2 1 68.88
27 CALIPER:FRONT C/S CALIPER 0410044 A&A Auto Parts Stores Inc |Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 CBM US Inc Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 ElDorado National (Californ|Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Gillig LLC Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Interstate Power Systems |Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Mohawk Manufacturing and|Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Muncie Transit Supply Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Neopart Transit LLC Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Suburban Truck Parts Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 The Aftermarket Parts Com[Piece 2

27 CALIPER:FRONT C/S CALIPER 0410044 Vehicle Maintenance Progrd Piece 2

28 WASHER:LOCK LINK ARM M18 WAS 0310022 ElDorado National (Californ|Piece 10 10 10 1 5.65
28 WASHER:LOCK LINK ARM M18 WAY 0310022 A&A Auto Parts Stores Inc |Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 CBM US Inc Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Gillig LLC Piece 10

28 WASHER:LOCK LINK ARM M18 WAS0310022 Interstate Power Systems [Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Kirk's Automotive Inc Piece 10

28 WASHER:LOCK LINK ARM M18 WAS 0310022 Mohawk Manufacturing and|Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Muncie Transit Supply Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Neopart Transit LLC Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Suburban Truck Parts Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 The Aftermarket Parts Com[Piece 10

28 WASHER:LOCK LINK ARM M18 WAY 0310022 Vehicle Maintenance Progrd Piece 10

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Neopart Transit LLC Assembly 2 2 2 1 615.21
29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Muncie Transit Supply Assembly 2 2 2 664.53
29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Mohawk Manufacturing and[Assembly 2 2 3 672
29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 ElDorado National (CalifornfAssembly 2 2 4 752.74 E




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 The Aftermarket Parts Com|Assembly 2 2 5 1027.23
29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 A&A Auto Parts Stores Inc |Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 CBM US Inc Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Gillig LLC Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Interstate Power Systems |Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Kirk's Automotive Inc Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Suburban Truck Parts Assembly 2

29 DRYER AY: AIR, AD-9 TURBO CHAR{2010037 Vehicle Maintenance Progrd Assembly 2

30 NUT:REAR SUSPENSION DEEP 7/8 0310024 ElDorado National (Californ|Piece 10 10 10 1 2.47
30 NUT:REAR SUSPENSION DEEP 7/8 0310024 A&A Auto Parts Stores Inc |Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 0310024 CBM US Inc Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Gillig LLC Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 0310024 Interstate Power Systems |Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Kirk's Automotive Inc Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 0310024 Mohawk Manufacturing and|Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Muncie Transit Supply Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Neopart Transit LLC Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Suburban Truck Parts Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 The Aftermarket Parts Com[Piece 10

30 NUT:REAR SUSPENSION DEEP 7/8 10310024 Vehicle Maintenance Progrd Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 ElDorado National (Californ|Piece 10 10 10 1 15.38
31 BOLT:REAR SUSPENSION 7/8-14X110310025 A&A Auto Parts Stores Inc |Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 CBM US Inc Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Gillig LLC Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Interstate Power Systems |Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Kirk's Automotive Inc Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Mohawk Manufacturing and|Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Muncie Transit Supply Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Neopart Transit LLC Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Suburban Truck Parts Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 The Aftermarket Parts Com[Piece 10

31 BOLT:REAR SUSPENSION 7/8-14X110310025 Vehicle Maintenance Progrd Piece 10

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Mohawk Manufacturing and|Kit 20 20 20 1 419.4
32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Neopart Transit LLC Kit 20 20 2 434.08
32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Gillig LLC Kit 20 20 3 440
32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Muncie Transit Supply Kit 20 20 4 719.44
32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 The Aftermarket Parts Com|Kit 20 20 5 798.73
32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 A&A Auto Parts Stores Inc |Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 CBM US Inc Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 ElDorado National (Californ|Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Interstate Power Systems | Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Kirk's Automotive Inc Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Suburban Truck Parts Kit 20

32 KIT: MAJOR BRAKE REPAIR, REAR 40410080 Vehicle Maintenance Progrd Kit 20

33 BEAM: REAR AXLE, R/S 0310039 ElDorado National (CalifornfAssembly 1 1 1 1 4406.81
33 BEAM: REAR AXLE, R/S 0310039 A&A Auto Parts Stores Inc |Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 CBM US Inc Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Gillig LLC Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Interstate Power Systems |[Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Kirk's Automotive Inc Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Mohawk Manufacturing and|Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Muncie Transit Supply Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Neopart Transit LLC Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Suburban Truck Parts Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 The Aftermarket Parts Com|Assembly 1

33 BEAM: REAR AXLE, R/S 0310039 Vehicle Maintenance Progrd Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 ElDorado National (CalifornfAssembly 1 1 1 1 4406.81
34 BEAM: REAR AXLE, C/S 0310040 A&A Auto Parts Stores Inc |Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 CBM US Inc Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Gillig LLC Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Interstate Power Systems [Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Kirk's Automotive Inc Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Mohawk Manufacturing and|Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Muncie Transit Supply Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Neopart Transit LLC Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Suburban Truck Parts Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 The Aftermarket Parts Com|Assembly 1

34 BEAM: REAR AXLE, C/S 0310040 Vehicle Maintenance Progrd Assembly 1

op)




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 Gillig LLC Piece 10 10 10 1 58.56
35 SLEEVE:STEER HUB SEAL SLEEVE (0110047 Vehicle Maintenance Progrd Piece 10 10 2 61.19
35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 Muncie Transit Supply Piece 10 10 3 67.12
35 SLEEVE:STEER HUB SEAL SLEEVE (0110047 Mohawk Manufacturing and|Piece 10 10 4 78.42
35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 Kirk's Automotive Inc Piece 10 10 5 97
35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 A&A Auto Parts Stores Inc [Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 CBM US Inc Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 ElDorado National (Californ|Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE 0110047 Interstate Power Systems |Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 Neopart Transit LLC Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE [0110047 Suburban Truck Parts Piece 10

35 SLEEVE:STEER HUB SEAL SLEEVE (0110047 The Aftermarket Parts Com{Piece 10

36 VALVE:ABS MODULATOR VALVE 0410095 Gillig LLC Piece 10 10 10 1 114.51
36 VALVE:ABS MODULATOR VALVE 0410095 The Aftermarket Parts Com{Piece 10 10 2 117.26
36 VALVE:ABS MODULATOR VALVE 0410095 Neopart Transit LLC Piece 10 10 3 119.2
36 VALVE:ABS MODULATOR VALVE 0410095 Muncie Transit Supply Piece 10 10 4 138.67
36 VALVE:ABS MODULATOR VALVE 0410095 ElDorado National (Californ|Piece 10 10 5 188.44
36 VALVE:ABS MODULATOR VALVE 0410095 Vehicle Maintenance Progrd Piece 10 10 6 212.57
36 VALVE:ABS MODULATOR VALVE 0410095 A&A Auto Parts Stores Inc |Piece 10

36 VALVE:ABS MODULATOR VALVE 0410095 CBM US Inc Piece 10

36 VALVE:ABS MODULATOR VALVE 0410095 Interstate Power Systems |Piece 10

36 VALVE:ABS MODULATOR VALVE (0410095 Kirk's Automotive Inc Piece 10

36 VALVE:ABS MODULATOR VALVE (0410095 Mohawk Manufacturing and|Piece 10

36 VALVE:ABS MODULATOR VALVE 0410095 Suburban Truck Parts Piece 10

37 HOSE:HYDRAULIC ACCUMULATOR 2010062 ElDorado National (Californ|Piece 2 2 2 1 214.02
37 HOSE:HYDRAULIC ACCUMULATOR (2010062 A&A Auto Parts Stores Inc |Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 CBM US Inc Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Gillig LLC Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Interstate Power Systems |Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Kirk's Automotive Inc Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Mohawk Manufacturing and|Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Muncie Transit Supply Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Neopart Transit LLC Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 Suburban Truck Parts Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR (2010062 The Aftermarket Parts Com[Piece 2

37 HOSE:HYDRAULIC ACCUMULATOR [2010062 Vehicle Maintenance Progrd Piece 2

38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Muncie Transit Supply Assembly 20 20 20 1 291
38 SHOCK: ABSORBER ASSEMBLY W/[0110058 The Aftermarket Parts Com|Assembly 20 20 2 291.47
38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Mohawk Manufacturing and|Assembly 20 20 3 340.48
38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Gillig LLC Assembly 20 20 4 411.98
38 SHOCK: ABSORBER ASSEMBLY W/[0110058 A&A Auto Parts Stores Inc |Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/ [0110058 CBM US Inc Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/ (0110058 ElDorado National (Californ|Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Interstate Power Systems |Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/ (0110058 Kirk's Automotive Inc Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/ (0110058 Neopart Transit LLC Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Suburban Truck Parts Assembly 20

38 SHOCK: ABSORBER ASSEMBLY W/[0110058 Vehicle Maintenance Progrd Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS§0410109 Mohawk Manufacturing and[Assembly 20 20 unapproved part 1 681.23
39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Neopart Transit LLC Assembly 20 20 unapproved part 2 989.67
39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 CBM US Inc Assembly 20 20 unapproved part 3 1060
39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 The Aftermarket Parts Com|Assembly 20 20 20 4 1524.54
39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 A&A Auto Parts Stores Inc |Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 ElDorado National (Californ|Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Gillig LLC Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Interstate Power Systems |Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Kirk's Automotive Inc Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Muncie Transit Supply Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Suburban Truck Parts Assembly 20

39 CALIPER:BRAKEW/O PADS FCS/RS{0410109 Vehicle Maintenance Progrd Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC{0410111 Mohawk Manufacturing and[Assembly 20 20 unapproved part 1 689.92
40 CALIPER:BRAKE W/O PADS FSS/RC{0410111 Neopart Transit LLC Assembly 20 20 unapproved part 2 989.67
40 CALIPER:BRAKE W/O PADS FSS/RC{0410111 CBM US Inc Assembly 20 20 unapproved part 3 1060
40 CALIPER:BRAKE W/O PADS FSS/RC{0410111 The Aftermarket Parts Com|Assembly 20 20 20 4 1524.54
40 CALIPER:BRAKE W/O PADS FSS/RC|0410111 A&A Auto Parts Stores Inc |Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC0410111 ElDorado National (Californ|Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC0410111 Gillig LLC Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC10410111 Interstate Power Systems |Assembly 20




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
40 CALIPER:BRAKE W/O PADS FSS/RC0410111 Kirk's Automotive Inc Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC0410111 Muncie Transit Supply Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC0410111 Suburban Truck Parts Assembly 20

40 CALIPER:BRAKE W/O PADS FSS/RC10410111 Vehicle Maintenance Progrd Assembly 20

41 BEARING:REAR AXLE BEARING 0410120 Gillig LLC Assembly 4 4 4 1 129.99
41 BEARING:REAR AXLE BEARING 0410120 Muncie Transit Supply Assembly 4 4 2 133.61
41 BEARING:REAR AXLE BEARING 0410120 Mohawk Manufacturing and|Assembly 4 4 3 149.33
41 BEARING:REAR AXLE BEARING 0410120 CBM US Inc Assembly 4 4 4 169.55
41 BEARING:REAR AXLE BEARING 0410120 The Aftermarket Parts Com|Assembly 4 4 5 202.58
41 BEARING:REAR AXLE BEARING 0410120 A&A Auto Parts Stores Inc |Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 ElDorado National (Californ|Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 Interstate Power Systems |Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 Kirk's Automotive Inc Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 Neopart Transit LLC Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 Suburban Truck Parts Assembly 4

41 BEARING:REAR AXLE BEARING 0410120 Vehicle Maintenance Progrd Assembly 4

42 WASHER:THRUST WASHER 0410122 The Aftermarket Parts Com[Piece 6 6 6 1 19.35
42 WASHER:THRUST WASHER 0410122 A&A Auto Parts Stores Inc |Piece 6

42 WASHER:THRUST WASHER 0410122 CBM US Inc Piece 6

42 WASHER:THRUST WASHER 0410122 ElDorado National (Californ|Piece 6

42 WASHER:THRUST WASHER 0410122 Gillig LLC Piece 6

42 WASHER:THRUST WASHER 0410122 Interstate Power Systems |Piece 6

42 WASHER:THRUST WASHER 0410122 Kirk's Automotive Inc Piece 6

42 WASHER:THRUST WASHER 0410122 Mohawk Manufacturing and|Piece 6

42 WASHER:THRUST WASHER 0410122 Muncie Transit Supply Piece 6

42 WASHER:THRUST WASHER 0410122 Neopart Transit LLC Piece 6

42 WASHER:THRUST WASHER 0410122 Suburban Truck Parts Piece 6

42 WASHER: THRUST WASHER 0410122 Vehicle Maintenance Progrd Piece 6

43 NUT:SLOTTED M100X 1.5 NUT 0410123 CBM US Inc Piece 20 20 unapproved part 1 10.55
43 NUT:SLOTTED M100X 1.5 NUT 0410123 Mohawk Manufacturing and|Piece 20 20 unapproved part 2 23.8
43 NUT:SLOTTED M100X 1.5 NUT 0410123 The Aftermarket Parts Com[Piece 20 20 20 3 53.52
43 NUT:SLOTTED M100X 1.5 NUT 0410123 Muncie Transit Supply Piece 20 20 4 73.8
43 NUT:SLOTTED M100X 1.5 NUT 0410123 A&A Auto Parts Stores Inc |Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 ElDorado National (Californ|Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Gillig LLC Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Interstate Power Systems [Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Kirk's Automotive Inc Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Neopart Transit LLC Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Suburban Truck Parts Piece 20

43 NUT:SLOTTED M100X 1.5 NUT 0410123 Vehicle Maintenance Progrd Piece 20

44 ROTOR:FRONT DISC ROTOR 0110063 Mohawk Manufacturing and|Piece 40 40 unapproved part 1 133.74
44 ROTOR:FRONT DISC ROTOR 0110063 Kirk's Automotive Inc Piece 40 40 unapproved part 2 145
44 ROTOR:FRONT DISC ROTOR 0110063 Gillig LLC Piece 40 40 40 3 147.08
44 ROTOR:FRONT DISC ROTOR 0110063 The Aftermarket Parts Com[Piece 40 40 4 171.58
44 ROTOR:FRONT DISC ROTOR 0110063 CBM US Inc Piece 40 40 5 181.25
44 ROTOR:FRONT DISC ROTOR 0110063 Muncie Transit Supply Piece 40 40 6 348.29
44 ROTOR:FRONT DISC ROTOR 0110063 A&A Auto Parts Stores Inc |Piece 40

44 ROTOR:FRONT DISC ROTOR 0110063 ElDorado National (Californ|Piece 40

44 ROTOR:FRONT DISC ROTOR 0110063 Interstate Power Systems [Piece 40

44 ROTOR:FRONT DISC ROTOR 0110063 Neopart Transit LLC Piece 40

44 ROTOR:FRONT DISC ROTOR 0110063 Suburban Truck Parts Piece 40

44 ROTOR:FRONT DISC ROTOR 0110063 Vehicle Maintenance Progrd Piece 40

45 NUT: WHEEL NUT (FRONT) 0110088 Mohawk Manufacturing and(Each 50 50 unapproved part 1 3.58
45 NUT: WHEEL NUT (FRONT) 0110088 Gillig LLC Each 50 50 50 2 3.96
45 NUT: WHEEL NUT (FRONT) 0110088 A&A Auto Parts Stores Inc |Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 CBM US Inc Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 ElDorado National (Californ|Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Interstate Power Systems |Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Kirk's Automotive Inc Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Muncie Transit Supply Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Neopart Transit LLC Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Suburban Truck Parts Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 The Aftermarket Parts Com|Each 50

45 NUT: WHEEL NUT (FRONT) 0110088 Vehicle Maintenance Progrd Each 50

46 STUD: WHEEL STUD 0110089 Gillig LLC Each 50 50 50 1 6.75
46 STUD: WHEEL STUD 0110089 Muncie Transit Supply Each 50 50 2 7.15
46 STUD: WHEEL STUD 0110089 Mohawk Manufacturing and(Each 50 50 3 8.18
46 STUD: WHEEL STUD 0110089 The Aftermarket Parts Com|Each 50 50 4 8.52




Award RFQ: 104220 Bus Parts

RFQ 104220 Quotes Received 12 Invited Suppliers 39
Close Date 8/5/2025 14:00 Active Quotes 12 Intent to Participate 9
RFQ Currency USD Shortlisted Quotes 12 Responded 12
Line Summary
Quote Award

Line Item,Rev  |Supplier Unit Quantity]  Quantity]  Quantity| Award/Reject Reason Rank Quote Price
46 STUD: WHEEL STUD 0110089 A&A Auto Parts Stores Inc |Each 50

46 STUD: WHEEL STUD 0110089 CBM US Inc Each 50

46 STUD: WHEEL STUD 0110089 ElDorado National (Californ|Each 50

46 STUD: WHEEL STUD 0110089 Interstate Power Systems |Each 50

46 STUD: WHEEL STUD 0110089 Kirk's Automotive Inc Each 50

46 STUD: WHEEL STUD 0110089 Neopart Transit LLC Each 50

46 STUD: WHEEL STUD 0110089 Suburban Truck Parts Each 50

46 STUD: WHEEL STUD 0110089 Vehicle Maintenance Progrd Each 50

47 PLUG: EBS PORT 0410155 The Aftermarket Parts Com[Piece 30 30 30 1 27.59
47 PLUG: EBS PORT 0410155 A&A Auto Parts Stores Inc |Piece 30

47 PLUG: EBS PORT 0410155 CBM US Inc Piece 30

47 PLUG: EBS PORT 0410155 ElDorado National (Californ|Piece 30

47 PLUG: EBS PORT 0410155 Gillig LLC Piece 30

47 PLUG: EBS PORT 0410155 Interstate Power Systems [Piece 30

47 PLUG: EBS PORT 0410155 Kirk's Automotive Inc Piece 30

47 PLUG: EBS PORT 0410155 Mohawk Manufacturing and|Piece 30

47 PLUG: EBS PORT 0410155 Muncie Transit Supply Piece 30

47 PLUG: EBS PORT 0410155 Neopart Transit LLC Piece 30

47 PLUG: EBS PORT 0410155 Suburban Truck Parts Piece 30

47 PLUG: EBS PORT 0410155 Vehicle Maintenance Progrd Piece 30

File Download Time 8/5/2025 14:20




